





nAlias Code | Bezeichnung Description Ref. \s/:'l_lg leroom

1 [82.3004.01 %* Halterung Ventilationsbox LI00 Support for ventilation box LI00 D900

2 823001 * Standard Ventilationsbox links Ventilation box left all types
829002 L Standard Ventilationsbox rechts Ventilation box right D900

3 |83.3021 & Rohrstutzen @ 60.3 Pipe socket @ 60.3 D900

4 | 823022 * Elektrobox 800+ Electronical compartment 800+ all types

5 |823008.02 %* Halterung Ventilationsbox L200 Support for ventilation box L200 all types
82.3008.12 * Halterung Ventilationsbox L200 gegengleich| Support for ventilation box L200 mirrored | all 1-side

6 | 827093 Q26582| Sicherungshalter Fuse holder D900

7 | 712 34436201|QGA814 | Sicherung 5x20 1A Fuse 5x20 1A D900

8 | 712 04496117 |QKI8S4| Kabeltille @25/@31/@35x10 Cable: sleeve @25/@31/@35x10 all types

9 |829030 QG60Q75 DC Power Supply 12VDC DC Power Supply 12VDC D900

10 |829020 QG&314| Schalter Off-9 Stufen + 2x10K Potentiometer| Switch off-9 levels + 2x10K potentiometer | D900
829013 0G624 | Schalter Off-9 Stufen + 10K Potentiometer | Switch off-9 levels + 10K potentiometer D850

1 | 8291501 QG6302| Eurotas Display Induktion Eurotas Display Induction D900
72593801 QKX184| Anzeigelampe Indicator light D850
72.593808 QKI364| Einsteckfassung grin/gelb @10mm Lamp holder, green/yellow, @10mm D850

12 | 821027.25 E Bedienblende Induktion 1000 1-seitig Control panel Induction 1000 1-side D900 / 1-side
821027.20 * Bedienblende Induktion 1000 2-seitig Control panel Induction 1000 2-sides D900 / 2-sides
821049.25 * Bedienblende INOX Induktion 1000 Control panel INOX Induction 1000 D850

13 | 82.7009 QG6247| Dichtung Drehgriff Sealing for hande all types

14 182912401 QG6362| Drehgriff mit Adapter 0°x6.0 Handle with adapter 0°x6.0 all types

15 | 82.3051 Main terminal Main terminal all types

16 | 82.3052 & Klemmentrager Terminal support all types

17 | 75.2011.03 OKX29 | Schutzleiterklemme 16mm? Ground conductor terminal 16mm? all types

18 | 75.2010.40 QKI280 | Reihenklemme 16mm? grau Terminal block 16mm? grey all types

19 |75.2010.41 QG3488 Nullleiterklemme 16mm? blau Neutral wire terminal 16mm? blue all types

20 | 75.2010.44 QKIZ3] | Querverbinder Cross connection all types

21 | 829103 QQG6424| Kabel Haupterddraht L400 é6mm? Main earthing cable L400 émm? all types

22 | 822908 QC0068 Kabelverschraubung PG21 Cable gland PG21 all types

23 | 829226 Q57024 Gegenmutter Kabelverschraubung PG21 Lock nut PG21 all types
829002 QG6897| Kabel: Display - Display Cable: Display - Display D900
829003 QG6899| Kabel: Potentiometer - Display L200 Cable: Potentiometer - Display L200 D900
82901 Kabel: Trafo - Display - Ventilator Cable: Trafo - Display - Ventilator D900
829116 Kabel: Trafo - TI - Trafo - T2 Cable: Trafo - Tl - Trafo - T2 2-Sides
82902201 QG70384| Kabel: Schalter- S - Schalter - S2 kurz Cable: Switch - SI - Switch - S2 short D900
82902202 Kabel: Schalter- S2 - Schalter - S3 kurz Cable: Switch- S2/3 - Switch - S4 short | D900 / 1-side
82902203 Kabel: Schalter- S2/3 - Schalter - S4 kurz | Cable: Switch- S2/3 - Switch - S4 short | D900
829022.05 Kabel: Schalter- S2 - Schalter - S3 lang Cable: Switch- S2 - Switch - S3 long 2-Sides
82901202 QGo667| Kabel: 2x Poti - Generator GFI L2500 Cable: 2x Poti - Generator GFI L2500 all types
82905901 Kabel: X0 - F1 - Schalter - Trafo 1 Cable: X0 - F1 - Switch - Trafo 1 D900
829064.02 Kabel: 2x Anzeigel. - Generator GFI L2500 | Cable: 2x indicato - Generator GFI L2500 | D850
72.6287.02 0T2450 | Kabel: 4x 4.0mm? L2800 Cable: 4x 40mm? L2800 all types
82901001 Kabel: Generator - Spulen L1800 Cable: Generator - Coils LI800 all types
¥ Toloa Anrage Doc. Ne 87.8072.03 Page: 3



http://www.partstown.com/electrolux/ELX056582?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G5814?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0KT854?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6075?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6314?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6302?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0KX184?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0KI364?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6247?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6369?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0KI280?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G3488?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0KT731?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6424?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0C0068?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G7024?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6897?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6899?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G7036?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6667?pt-manual=ELX-MCJD_pm.pdf

LOftungskit

Aeration kit

Page: 4

Doc. Ne 87.8073.02

% Components on demand
* Teile auf Anfrage




Alias Code |Bezeichnung Description Ref. \S/::'Ii(:lerim
1 | 712 04412005 | 0G3998 | Kepsmutter M5 Hex nut M5 D900
2 |1701 7002 QG2923 | Facherscheibe M5 Fan washer M5 D900
3 |1701 2579 QG402Q | Sechskantschraube M5x16 Hex bolt M5x16 D900
4 | 82.3001 L Standardventilationsbox links Ventilation box left D900
5 |83.3021 & Rohrstutzen @ 60.3 Pipe socket @ 60.3 D900
6 |1201 2105 QQG&784 | Schlauchschelle 60-115mm Hose clamp 60-115mm D900
7 | 839010 QG&7Q] | Alu-Flexschlauch @60/66 Flexible aluminium hose @60/66 D900
8 |1101 8170 Q53250 | Innensechskantschraube M4x8 Allen bolt M4x8 D900
9 |17011083 0G5755 | Zylinderschraube M3x30 Socket cap screw M3x30 D900
10 |1 701 3540 2KI1478 | Unterlegscheibe M3 Washer M3 D900
| 827159 QG674 | Ventilator 60x60x25 622HH (3.5W) Cooling fan 60x60x25 622HH (3.5W) D900
12 | 820133 QG675 | Verstarkungsrohr Ventilator Cooling fan support D900
% Components on demand Doc. N 87807203 Page: 5

% Teile auf Anfrage



http://www.partstown.com/electrolux/ELX0G2923?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G4020?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6754?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6701?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G3250?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6274?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6755?pt-manual=ELX-MCJD_pm.pdf

Mechanical parts

Mechanische Komponenten

Doc. Ne 87.8073.02

S &

Page:




Alias Code |Bezeichnung Description Ref. \S/::'Ii(:lerim

1 | 827464 QC2494 | Dichtband (Schaumstoff-Silikon, klebend) | Sealing strip all types

2 | 82731601 QG6329 | Spule 3.5kW GFI 400V Coild 3.5kW GFI 400V all types

3 | 822576 * Spulentragerblech (2Zonen) Coil support sheet (2Zones) all types

4 | 712 04496116 KabeltUlle Kabeltille all types

5 |1115 1416 QK2029 | Querstromlifter Cross flow blower all types

6 [82520210 %* Luftkanal 1000x850 Air channel 1000x850 D850
82.5203.10 @ Luftkanal 1000x900 Air channel 1000x200 D900

7 | 821184 * Kanalverléangerung vorn Channel extension frontside all types

8 |17017002 062923 | Facherscheibe M5 Fan washer M5 all types

9 |1701 2579 QG402Q | Sechskantschraube M5x16 Hex bolt M5x16 all types

10 |820114.02 QG7055 | Abgrenzungsblech Frischluft rechts H700 | Aeration sheet right H700 H700
82.0114.12 QG7054 | Abgrenzungsblech Frischluft rechts H800 | Aeration sheet right H800 H800

11 | 82.0114.01 QG7Z053 | Abgrenzungsblech Frischluft links H700 | Aeration sheet left H700 H700
820141 QG7084 | Abgrenzungsblech Frischluft links H800 | Aeration sheet left H800 H800

12 | 827334 QG6394 | Dichtung Geréte seitwarts (NM) Side-sealing strip all types

13 | 82.7467 QC7307 | Dichtung 5mm Sealing sides 5mm all types 51010000

14 | 82117810 %* Anschlussdeckel (LUftung) H66/L1000 Bottom front panel (aeration) H66/L1000 | all H700
82.1178.30 %* Anschlussdeckel (LUftung) H166/L1000 Bottom front panel (aeration) H166/L1000 | all H800

15 | 82114010 %* Anschlussdeckel H66/L1000 Bottom front panel H66/L1000 all H700
82.1140.30 %* Anschlussdeckel H166/L1000 Bottom front panel H166/L1000 all H800

16 | 82104114 * Blende rechts 254.5 Panel right 254.5 all 2-Sides

17 | 82104213 * Blende links 105.5mm Panel left 105.5mm all 2-Sides

18 | 821102.09 * Ruckwand 1000x700 Back panel 1000x700 1-Side/H700
82.1007.09 * RUckwand 1000x700 C-Board Back panel 1000x700 C-Board 1-S/H700/C-board
821102.29 * Rickwand 1000x800 Back panel 1000x800 1-Side/H800
82.1007.29 3 RUckwand 1000x800 C-Board Back panel 1000x800 C-Board 1-S/H800/C-board

19 | 86.0001 QG239] | Stellful 2" 145-252mm rund Adjustable feet 2" 145-252mm, round | H700

20 | 86.2385 QGA140Q | Stellful 2" 100mm Adjustable feet 2" 100mm H800

21 |1701 5051 QG673 | Facherscheibe M6 Fan washer M6 all types

22 | 17012600 QKTQI9 | Sechskantschraube Mé6x12 Hex bolt Méx12 all types

% Components on demand Doc. N2 87807203 Page: 7

% Teile auf Anfrage



http://www.partstown.com/electrolux/ELX0C2496?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6329?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0K5059?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G2923?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G4020?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G7055?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G7056?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G7053?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G7054?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6396?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0C7307?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G5391?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6140?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6753?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0KT919?pt-manual=ELX-MCJD_pm.pdf

Generator cabinet

Generatorenschrank

OOO/ N

<

(o]

Components on demand
Teile auf Anfrage

*
*

?/Lis

Doc. Ne 87.8073.02

Page: 8




Alias Code |Bezeichnung Description Ref. \S/::'Ii(:lerim
1 |82276503 E Einschubblech Slide-in sheet all types
2 | 82714501 QG6328 | Generator Q+ 4x3.5kW GFI 400V Generator Q+ 4x3.5kW Full induct 400V all types
3 | 712 04412004 | 0G4918 | Keps-Mutter M4 Keps-nut M4 all types
4 11701 2590 QG4l7] | Réandelschraube Knurled screw all types
5 | 82276501 * Einschubblech Slide-in sheet all types
6 83308504 * Blende mit Ausschnitt Panel all types
7 | 82727202 22 Filter Filter all types
8 |82.276601 * Schutzblech Protection sheet all types
9 | 712 04412005 | 0G3998 | Keps-Mutter M5 Keps-nut M5 all types
10 |82.2354 * TUr mit Lamellen Door all types
n | 837029 222 Hebelschloss Lever lock all types
12 | 837063 QG424Q | Vierkantschlussel Square key all types
% Components on demand Doc. N 87807203 Page: 9

% Teile auf Anfrage



http://www.partstown.com/electrolux/ELX0G6328?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G4171?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6260?pt-manual=ELX-MCJD_pm.pdf

Warming cabinet

13

% Components on demand
* Teile auf Anfrage

Warmeschrank

Doc. Ne 87.8073.02

Page: 10




Alias Code |Bezeichnung Description Ref. Z::Iiglf;jz’m
1 [820032.03 * Korpusdeckel 1S 640 Corpus cover 1S 640 1-Side
82.0084.06 * Korpusdeckel 2S 640X900 Corpus cover 2S 640X900 2-Sides
2 |82232603 222 | Einlegeboden 640 1S False bottom 640 1S 1-Side
820195.04 222 | Einlegeboden 640 2S 900 False bottom 640 2S 900 2-Sides
3 624208 222 | Halter Heizung Heating element support all types
4 624082 QG291 | Heizung 2000W /400V Heating element 2000W /400V all types
5 |721120 QKZ4989 | Dichtung 44x20x3 Sealing 44x20x3 all types
6 |1701 7002 Q52923 | Facherscheibe M5 Fan washer M5 all types
7 |1701 2579 QG4020 | Sechslantschraube M5x16 Hex bolt M5x12 all types
8 |1201 2020 222 | FUhlerbefestigung Sensor fixation all types
9 | 726251 222 FUhlerschutz Sensor protection all types
10 [17012579 Q64020 | Sechslantschraube M5x16 Hex bolt M5x12 all types
1 | 82022301 QG6757 | Deckel Servicefenster Lid service cover all types
12 |1701 145 QG6758 | Senkkopfschraube M4x6 Countersunk screw M4xé all types
13 | 82025501 222 | Tur, doppelt, 290, links Door, couple, 290, left D900/850 H2
821068.02 222 | TUr, doppelt, NHC, 580, links Door, couple, NHC, 580, left D850 NHC
14 | 82025502 222 | Tur, doppelt, 290, rechts Door, couple, 290, right D900/850 H2
82106801 222 | TUr, doppelt, NHC, 580, rechts Door, couple, NHC, 580, right D850 NHC
% Components on demand Doc. N 87807203 Page: il

% Teile auf Anfrage



http://www.partstown.com/electrolux/ELX0G2911?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0K4989?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G2923?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G4020?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G4020?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6757?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6758?pt-manual=ELX-MCJD_pm.pdf

Reglerblende Warmeschrank

Control panel warming cabinet

S

n Alias Code | Bezeichnung Description Ref. \S/::ii:lerO.,m

1 | 712 344039 | QKBQ23| Kapillarrohrregler 30-100 Capllary control 30-100 all types

2 | 72593804 QKI362 | Anzeigelampe klar Indicator light, clear all types

3 | 822665 QG7229 | Zwischenblech Spacer sheet all types

4 182104303 %* Bedienblende warming cabinet, rechts, 105 | Control panel warming cabinet, right, 105 all types

5 |72.5938.08 QKI364 | Einsteckfassung klar @10mm Lamp holder, clear, @10mm all types

6 | 827009 QG6247| Dichtung Drehgriff Sealing for hande all types

7 | 82912401 QG6369 | Drehgriff mit Adapter 0°x6.0 Handle with adapter 0°x6.0 all types
62154401 22 Kabelbaum: Warmeschrabk komplett Wiring harness: warming cabinet all types
62.1503.02 222 | Verdrahtung 2X0.5X 300 Wiring 2x0.5x300 all types
829183 222 | Kabel: WS-Qquerstromlifter Cable: Warming cab.-cross flow blower all types
. % Components on demand

Page: 12 Doc. Ne 87.8073.02 % Teile auf Anfrage



http://www.partstown.com/electrolux/ELX0K5023?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0KI362?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G7229?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0KI364?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6247?pt-manual=ELX-MCJD_pm.pdf
http://www.partstown.com/electrolux/ELX0G6369?pt-manual=ELX-MCJD_pm.pdf

